2 +2)2+ (x+2)Bx-1) = Bx-1)2 = —(ax + b)(cx + d) & T,

ab + cd 9 TE& A7 (H, a, ¢ & FF)

@1 o3 ® 0 @ 2 ® -2

B )
x+2=A, 3x—1=B= X|&slH

2A% + AB-B? = (2A-B)(A+ B)
=(2x+4-3x+1)(x+2+3x-1)

=—(x-5)(4x+1)

sab+ed=1x(-5)+4x1=-1




2.

@®—b? = (a-b)(a+b) VL B3] 12-32 45272 492 112 +
132 — 152 + 172 — 192 & AAtsA?

D -100 @—200 ® -300 @ -450 ® -540

B ~

12-32 45272492 -112 4132 - 152 + 172 - 192
=1-3)1+3)+GB-7B+7)+---+(17-19)(17 + 19)
=-2(14+3)-2(64+7)—2(9+11) —2(13 4+ 15) — 2(17 + 19)
=-2(14+3+5+---+17+19)

=-2X5x%x20

= -200




